TL_SC_OC_stubs.xmcd

Lossless Transmission Line Circuit Elements

70
(j-tan(2-7v-x))

Z0:=50 Q  Zsc(x) :=j-Z0-tan(2-w-x)  Zoc(x) =

1.5+9
n:=1..200 d :=0.01 I\, =
" 200

‘n

o

(o]

Note: ¢/A=0.251s P -
equivalent to an electrical |_) 0 Y =JP L
length B¢ =7/2 =90 deg. °

lo N
Zsc |\ 6 /|
Short Circuit Stub
400
Inductive
200 7 Reactance
Im(Zsc( l)\n))
- 0
0
—200[ . Capacitive
Reactance
—-400
0 0.25 0.5 0.75 1 1.25 1.5
D%
[o O
Z,,v=Jjp Z,=nfinity
. )
le N|
Zoc |\ e /|
Open Circuit Stub
400
Inductive
200 Reactance
Im ( Zoc ( 1)\n) )
- 0
0
—200 . Capacitive
Reactance
—-400

0 025 05 075 1 125 15
D



